ECE 329 - Fall 2022

Prof. Ravaioli — Office: 2062 ECEB



Lecture 32 — Qutline

* Periodicity in transmission lines
* Resonances
e Standing waves and periodic oscillations

* Realization of reactance (inductance or capacitance) with short-circuited
or with open-circuited transmission lines

Reading assignment
Prof. Kudeki’s ECE 329 Lecture Notes on Fields and Waves:
32) Input Impedance and microwave resonators



Line with a generic load impedance

Since the reflection coefficient is VO_

L VO+

we can derive

v (d)=Vy e (14T, e )=V e (1+T(d))

V+ JBd V+€Jﬂd

d)==7 (1-T,e*)= 7 (1-r'(d))
r (d) — FL- e—ljﬁd generalized reflection coefficient
Z(d)z V(d) =Z ]+r(d) line impedance

I(d) "1-T(d)




Significance of line impedance

Every line location is characterized by a line impedance Z(d)
and a reflection coefficient I'(d)

A

Imagine to cut the line at location d. The input impedance of the portion of line
terminated by the load is the same as the line impedance at that location
“before the cut”. The behavior of the line on the left of location d is the same if

an equivalent impedance with value Z(d) replaces the cut out portion.
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Line with arbitraryload Zy,=50QandZ; =150Q [ =2.38A
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Line with arbitraryload Zy,=50QandZ; =150Q [ =2.38A
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Standing wave patterns

(Space-dependent magnitudes of the phasors for voltage and current)



Line with arbitraryload Zy,=50QandZ; =150Q [ =2.38A
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Line with arbitraryload Zy,=50QandZ; =150Q [ =2.38A
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Line with open circuit load
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Line with open circuitload Z;=50Q [=1.0A

10 @ Vmax =1.0 [ V] d =004 =00m 2[vY|

v(d, t)

[Vl

0.0

-1.0

I 0

@ Imax =00 [A] d =00%L =00m 2|V:;VZO

i(d,t)

[mA]

0.0

10



Line with open circuitload Z;=50Q [ =3.0A
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Line with short circuit load
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short circuit load, open circuitinput Z,=50Q [ =1.25A
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These explorations show that periodicity of line properties are
established by the reflection coefficient which repeats every A /2.

For a given length of line we can identify resonant modes
(complete standing waves) for frequencies which correspond to

multiples of A/2, when the ends of the line are both open circuits
or short circuits.

T o
resonant frequency W = —"n f — N HZ

( 20

resonant wavelength )\ —_ — = —

implying that resonances occur at frequencies for which the g
physical length corresponds to an integer number of A /2.

|
S

o>~
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Consider a line section open circuited at both ends. The current is
expressed by forward and reflected waves as

fit—==) g(t+=)
I[(z,1) = 7 ' 2?-'

with zero boundary conditions at the ends

waveforms are the same
| fi)  glt) .
1(0. 1) = — - =0 t)= 1(t
0.1) === —>  g(t)=f(?)
(t =1L t+4 . , . ,
(i t):f(Z ) —Q(Z )y —> flt—4) = ft+7)
' ‘ f(t) = ft+7)
seriod T _ 2{—{ periodicity
fundamental , . f__f”T . ﬂ
frequency “’u(f) o T T ( 15



From Fourier analysis
o0
f(t)=F,+ Z F}, cos(nw,t + 6,)
n=1

with zero boundary conditions at the ends

fit—=2) = flt+37)

I(z,t) =

ZO
— F,
— Z 7{60%(72&)& + 9;3 nﬁaz) — Cos(nwot + Qn. + nﬁozﬂ
n=1 "¢
Bo = 2, =t
ndameral | B0 = wo/v =T /L °= 7 .



In phasor form

f ( Z) — Z % 63] On {fj_} nfoz €} nG, :;}
. O

—Z il e/ (—27) sin(nfB,z)

Back to the time domain

= 2F,
[(z,t) = - sin(nw,t + 6,,) sin(nf3,2)
n—1 o

2 sin(A) sin(B) = cos(A — B) —cos(A+ B) | compare with original form
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Similarly for the voltage

Viz,t) = Z 2F, cos(nw,t + 6,) cos(nf,z)

n=1
from the phasor form

B

V( Z) _ Zn Fn. e 76, { e Infoz 1 e gnf3 ::}
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If the transmission line is terminated by a short circuit and has an
open circuit on the other end then resonant frequencies are
obtained when the length £ corresponds to an odd multiple of A/4

)\:27T/5: T

4 4 203

A
resonant condition g — Z (2” —I— 1), 1 Z O

resonant frequency f()l" T > O

=573 .




Example

i 6><i=12><i

< >|< >
10 @ Vmax =0.0 [ V] d =00% =00m 2.|V2:| )
v(d,t)
[V]
0.0
-1.0
) 0
short
gperf circuit
circuit

20



Realize any imaginary impedance with a short-circuited line

Zg ZL=0

V(d=0)=V; e [1+T " |=V;[1+T,]=0

= I, =-1
Vo - +
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short-circuited line
line voltage

V(d) V+ Jﬁd_l_V— —jpd _ V+ Jjpd V+ —-Jjpd
:V(;[efﬁd—e”ﬁd]:2ﬂ/o+ sm(,()’d)

line current

](d) Zlo |:V+ jpd V— —Jﬂd}_ZLO[V:; Jﬂd_l_V+ Jﬂd:|
_ ’;_o;[ew e 22 cos(Bd)

DUV ) 2gvesin(Bd)
2(d)= 1(d) 2V, cos(pd)/Z, = JZ,tan(/ d)zz




Realize any imaginary impedance with an open-circuited line

1(d=0)=V—0efﬂ0[1—rLef2ﬁ0]=V—°[1—FL]
ZO ZO
= 1, =1
I A
=" = V, =V




open-circuited line
line voltage

V(d) — %+efﬁd + %—e—jﬁd — I/E;_ejﬁd + VI;_e_jﬁd

=V [ejﬁd _|_e—jﬁd:| =y cos(,[)’d)

line current

](d)zzi[ 0+ejﬁd_ 0—e—jﬂdi|:ZL[Vyejﬂd_Vye—jﬁd]
0 0
= %[efﬁd —e M| = 22 IO/O sin(fd )
line impedance
V(d) 2y cos(pd) . Z,

#4)= 1(d) 2,1, sin(Bd)/Z, — tan(Bd) .




Reactive impedances can be realized with transmission lines
terminated by a short or by an open circuit. The input impedance of
a loss-less transmission line of length L terminated by a short
circuit is purely imaginary

Z;, = jZytan(BL) = j Z, tan(z?zTL): JjZy tan 2R—fL

Vp

For a specified frequency f, any reactance value (positive or
negative!) can be obtained by changing the length of the line from (0

to /2. An inductance is realized for L < A/4 (positive tangent)
while a capacitance is realized for A/4 < L < )\/2 (hegative tangent).

When L = 0 and L = A/2 the tangent is zero, and the input

impedance corresponds to a short circuit. However, when L = /4
the tangent is infinite and the input impedance corresponds to an
open circuit.
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Since the tangent function is periodic, the same impedance
behavior of the impedance will repeat identically for each additional

line increment of length A/2. A similar periodic behavior is also

obtained when the length of the line is fixed and the frequency of
operation is changed.

At zero frequency (infinite wavelength), the short circuited line
behaves as a short circuit for any line length. When the frequency
Is increased, the wavelength shortens and one obtains an

inductance for L < A/4 and a capacitance for A/4 < L < A/2, with
an open circuit at L = A/4 and a short circuit again at L = A./2.

Note that the frequency behavior of lumped elements is very

different. Consider an ideal inductor with inductance L assumed to
be constant with frequency, for simplicity. At zero frequency the
inductor also behaves as a short circuit, but the reactance varies
monotonically and linearly with frequency as

X = ol (always aninductance)
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Short circuited transmission line — Fixed frequency

L L=20 Li, =0 short circuit
0<Lc< % Im{Z;,} >0 inductance
A I

L = 1 Ly —> © open circuit

%{ L < % Im{Z;,} <0 capacitance
A .

L = 5 Zi, =0 short circuit
%{. L < % Im{Z;,} >0 inductance
= % L, —> © open circuit

34
e <L<A Im{Z;,} <0 capacitance
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Normalized Input Impedance Z(L)/Zo=jtan(? L)

Impedance of a short circuited transmission line

(fixed frequency, variable length)

B inductive mdu) inductive

_ capacitive cap.

B | | | | | | | | | | |
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Line Length L
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Impedance of a short circuited transmission line

~ (fixed length, variable frequency)
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For a transmission line of length L terminated by an open circuit,
the input impedance is again purely imaginary

. 2 . Z . Z
Zi :_Jtan({[;L):_J 2075 -/ ’
tan(L) tan 2’RfL
A v

We can also use the open circuited line to realize any reactance, but
starting from a capacitive value when the line length is very short.

Note once again that the frequency behavior of a corresponding
lumped element is different. Consider an ideal capacitor with

capacitance C assumed to be constant with frequency. At zero

frequency the capacitor behaves as an open circuit, but the
reactance varies monotonically and linearly with frequency as

1
X = —( (always a capacitance)
®
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Open circuit transmission line — Fixed frequency
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Normalized Input Impedance 2Z(L)/ Zo =-jcotan(p L)

Impedance of an open circuited transmission line
(fixed frequency, variable length)

Line Length L

B |
| inductive inductive inductive
capacitive capacitive capacitive
B | | | | | | | | | |
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n/(2B) =A/4 /B =A2 3n/(2B)=3A1/4 2n/p =2A Sm/(2B) = SA/4 L
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— Normalized In

put Impedance Z(L)/ Zo =-jcotan(p L)
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You can also use

Y, = — Characteristic admittance

Zo
Short circuited line

Input Impedance

Z(l) = 32, tan(Bl)

Input Admittance
S 1 |
V() = —— = - — —jY, cot(Sl
V=20 = 7Z,anip) ~ oot
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Resonant circuits 1

W = = W,
VvV LC

Series Parallel

— C

T | T 1
ZS — j(WL WO) }/}7 o ](WO CLJL)

short circuit at resonance open circuit at resonance 39




Resonant circuits

A short-circuited line stub is equivalent to an open circuit when
the length is an odd multiple of A/4 with resonant frequencies

1
f== (2

n) tor n=0.1.2.3,---
20 n) ) Ly 49

A short-circuited stub is equivalent to a short circuit when the
length is an even multiple of A/4 (integer number of A/2) with
resonant frequencies

. -
f=—ntforn=1223---
20
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You can build circuits with short TL stubs as reactive elements
Series network:

short

Parallel network:

short
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It is possible to realize resonant circuits by using transmission
lines as reactive elements. For instance, consider the circuit below
realized with lines having the same characteristic impedance:

short
circuit

Zr‘nl

anz

Zi = jZ tan(BLy )

short
circuit

Ziny = jZytan(BL, )
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The circuit is resonant if L; and L, are chosen such that an
iInductance and a capacitance are realized.

A resonance condition is established when the total input
Impedance of the parallel circuit is infinite or, equivalently, when
the input admittance of the parallel circuit is zero

. . + - . =(
jZytan(B,Ly) jZytan(B,L;)
or
tan &Ll = —tan &Lz with Brzz_n:%
v]) vp A‘f‘ vp

Since the tangent is a periodic function, there is a multiplicity of

possible resonant angular frequencies o, that satisfy the condition
above. The values can be found by using a numerical procedure to

solve the trascendental equation above. .



